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QUESTION 1

Which two optional components are integrated and used with Oracle Site Studio?
A. WebDAV

B. Dynamic Converter

C. Content Access

D. Verity

Correct Answer: AB

QUESTION 2

What two levels of security are offered by Oracle Content Server?
A. Security Group

B. Role

C. Account

D. User

Correct Answer: AC

QUESTION 3

Which action enables one to view the disposition schedule for a records/folder in Oracle Universal Records
Management?

A. Recent Reviews
B. Metadata History
C. Life Cycle

D. Freeze

Correct Answer: C

QUESTION 4

Which step does a document return to by default, when an approver rejects a document In an Oracle Content Server
workflow?

A. Previous step
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B. Previous edit step
C. AutoContribute step
D. Current step
Correct Answer: A

Explanation: Note: The right answer is either Previous step or previous edit step. Because when a document is rejected
it goes to the previous reviewer.

QUESTION 5

Which statement is true about renditions and rendition sets in Oracle Digital Asset Management?

A. When a digital asset is checked in to Content Server, Digital Asset Manager creates multiple renditions of that asset.
B. When a contributor checks a digital asset into Content Server, they need to select a rendition on the check in form.
C. When a digital asset is checked in to Content Server, Digital Asset Manager creates a single rendition of that set.

D. When a contributor checks a digital asset into Content Server, they select a rendition on the check-in form.

Correct Answer: AC

QUESTION 6

What are the two technical benefits of integrating Oracle Enterprise Content Management with application?
A. A1A Foundation Pack is fully integrated with ECM Suite to build Fusion Applications

B. Limited functionality allows ease of integration

C. Access to application content by non-application users

D. Reuse of application content for web presence

Correct Answer: AD

QUESTION 7

Which revision status indicates that the revision is being converted to Web-viewable format?
A. RELEASED

B. REVIEW C. GenWWW D. EXPIRED

Correct Answer:
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QUESTION 8
Which two statements are true about Oracle Information Rights Management 11g?

A. In Oracle Information Rights Management 11g, the server doesn\\'t have separate installation bits for Management
Console

B. In Oracle Information Rights Management 11g, the server has separate installation bits for Management Console
C. Oracle Information Rights Management 11g, the desktop has separate installation bits to seal documents.

D. In Oracle Information Rights Management 11g, the desktop doesn\\'t have separate installation bits to seal
documents.

Correct Answer: AC

QUESTION 9

In Oracle Content Server, the administrator user can assign multiple roles to a user. If a user has more than one role,
the permission becomes and .

A. Additive

B. Least restrictive
C. Most restrictive
D. Subtractive

Correct Answer: BD

QUESTION 10

Which component is optional in the Oracle Content Server security model?
A. Security Group

B. Role

C. Account

D. Permission

Correct Answer: C

QUESTION 11
Select the mode in which Oracle\\'s Site Studio Manager can be displayed.

A. Contribution
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B. Assistance
C. Normal
D. Basic

Correct Answer: A

QUESTION 12

In the hierarchical account-based security model of Oracle Content Server, a user has delete permission on account
HR. What permission does the user have on account HR/Schedule if there are no permissions assigned for it?

A. UnAssigned
B. Read

C. Delete

D. Admin

Correct Answer: A

QUESTION 13

Which two types of HTML WYSIWYG editor are supported by Oracle Site Studio 11g?
A. WYM editor

B. LyX editor

C. FCKI/CK editor

D. Ephox editor

Correct Answer: CD

QUESTION 14

The Site Studio Contributor application enables the contributor to update content on the Web page per they want to use
the editing environment that can be called directly from the Web site.

A. Offline

B. Streamline
C. Inline

D. Baseline

Correct Answer: C
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QUESTION 15

Which two are predefined records management roles in Oracle Universal Records Management DoD edition?
A. rmarequestor

B. rmaprivileged

C. rmaguest

D. rmaadmin

Correct Answer: BD
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